CANOPEN

N )R 1K RS

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
RESNEENERLEL, CANopenfEENTXLECMP 8271 HEZIM
R RMIRITE, BINBHRERS. £ F, RN URKSER, £H
B A B RAREMOEMARR T AV E .

FZF

HAHIE
REpHLHIE
BRIZEA

CMP 8271

FERR

B IREIR9LEH

LSS (DS 305V2.0)
EHE: 5 M E M

CANopen S 411 DS301/DS404 25§ CAN 2.0A/B

BASIE
MERE pihpe ] B @ +25°C RE +0.5%FS BEE
1+ 0.3%FS HA(E
WETE 0..2.5%0...700 bar NRERE -40°C ... +125°C
0...30 £0..10000 psi
BHES S CANopen DS404 NERE -40°C ... +125°C
NLH @ 25°C (BSL) #28!(E +0.3% FS H8F
+0.2% FS HE(E
Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

04/2023

HiEH H72619g

EEE SR



CMP 8271

TR /RS REB

H72619g

B S o el
[bar] [bar] [bar] [psi]
0..25 75 50 75 0...30
0..4 1 60 76 0...50
0..6 18 100 7 0...100
0..10 30 200 78 0...150
0..16 3 200 79 0...200
0..25 75 300 80 0...250
0...40 120 300 81 0...300
0...60 180 400 82 0...400
0...100 300 500 83 0...500
0...160 480 750 85 0...1000
0...250 750 1000 74 0... 1500
0..400 1000 2000 84 0...2000
0..600 1500 2500 86 0...3000
0..700 1500 2500 87 0...5000
%R 5P: REIE 0...7500
0..25 125 60 55  0--10000
0..4 20 100 56
0..6 30 200 57
0..10 50 200 58
0..16 80 300 59
0..25 125 300 60
0...40 200 400 61
0...60 300 500 62
0...100 500 750 63
0...160 800 1000 65

HEXES, B 0.5%
HENES, EE0.3%

G1/4» ShiBLr, B354 : DIN 3869 (i 61/63/83)

G1/4» 9Ly, 2SR5 FETE @ 0.5 mm, Z545: DIN 3869 (Ffiff 61/63/83)
G1/4» MBS (FE/1%R) EN 837

G1/8»9MEST DIN3852-E, B2t : Mtttk 613

1/4» NPT 4MBZ

1/8» NPT JME&L3)

7/16»-20UNF RE24L, SAE J512 #ifi 5 Hfid s 4
7/16»-20UNF REB4YL, SAE J512 il & Afidss 4

7/16»-20UNF MR, DIN 3866 ¢

7/16»-20UNF-2A SMBLY, SAE J1926-3 (128Y) , B4 it 61/63 9
7/16»-20UNF-2A SMB%, SAE J1926-2 (Heavy Duty), 224 -4 61/63 19
9/16»-18UNF-2A SMZ4Y, SAE J1926-3 (128Y) | B4 i 619
9/16»-18UNF-2A §MELL, SAE J1926-2 (Heavy Duty), Bt -4 6110
R1/4» JM24r, DIN3858

R1/4» JMELL, DIN2999 ©

R1/8» JMZ&L, DIN3858 2

M10x1 SM2%, DIN EN ISO 6149-2, JMBLY, 23 Hiifs 61

M12x1 JMBEL, SMBEL, TEe : M4 612

M12x1.25 ML, SMELY, Bt i 612

M12x1.5 SMELL, DIN EN 1SO 9974-2, SMBLL, B3 Hits 61

M14x1.5 SMELSL DIN EN 1SO 6149-2, MBS, Z3d : Hit4 619

gm2/7

BE
[psi]
90
150
300
450
600
750
900
1200
1500
3000
4500
6000
9000
12500
18750
18750

1RIEE
Vil
[psi]
700
850
1450
2500
2500
2500
4000
4000
4000
5000
7000
10000
14500
21750
29000
29000

8271. XX

G5
G6
G7
G8
GA
G9
HA
HO
H1
H2
H3
H5
G4
H4
H6
H7

XX XX XX XX XX

25
23

17
15
53
54
30
43
24
44
18
42
69
61
67
19
20
16
32
64
65
49
31

sensors <0 controls



CMP 8271

8271. XX XX XX XX XX XX

BSiEN FBER/MESL M12x1, 5§, PA #1%), IEC 61076-2-101 35

RihES CANopen S4hiX 51

BefF EILIESL M12xL, 5 33
ELEERRETH 2 1.0mmo 40
ELEERRETH ¢ 0.4 mmo 44
B4t FPM, -18°C ... +125°C 61
%4t EPDM, -40°C ... +125°C 63
%4t NBR,-25°C ... +100°C 83
B A20 kbit/sEIS 5L © zS
BRIt R S E1L O ZA
RREPERHITEHLEY zC
L VM

VRPEFETCENSELE

A TEEER, BELEMRTFEDIN EN 1SO 6149-2

% 480 bar I ER, RAMAFESEE 160 bar

4180 bar R, RAAFESIEE 60 bar

S B] i)

O FMERTEAEO 53, 13,24,44,18

DITEHEMIE 50 HfEER

9 RIEFE—NBEIRE

9 HRIBSAE J1926-3 (R E) iR, MESEERARI50bar. FER AT, IFEIE2023EH T & SAE J1926-2 (B E) fRERRRAER
10 #RHESAE J1926-2(ER)AT A, NETERAF630bar

PR (X GEHAPRARAE)

Ems RBHKH EHTE RAEE fiteg BE @ +25°C
[bar] [bar] [vDC] HAE
[%]
CMP2.5M 8271752517 3500000000 51 44 0..25 15 9..32 05
CMP4.0M 8271762517 350000000051 44 0..4 12 9..32 +0.5
CMP6.0M 8271772517 350000 0000 51 44 0..6 18 9..32 105
CMP10.0M 8271782517 3500000000 51 44 0..10 30 9..32 *05
CMP16.0M 8271792517 350000 0000 51 44 0..16 48 9..32 05
CMP25.0M 8271802517 350000000051 44 0..25 75 9..32 05
CMP40.0M 8271812517 350000000051 44 0...40 120 9..32 +0.5
CMP100.0M 8271832517350000 000051 44 0...100 300 9..32 +0.5
CMP250.0M 8271742517 350000 0000 51 44 0...250 750 9..32 05
CMP400.0M 827184 2517350000 000051 44 0...400 1000 9..32 105

H72619¢g EH3/7 sensors & controls



, PinOut
1L

|

I
M12x1
018.8

4 CAN_High
5 CAN_Low

21

DIN 3869

021

8271.XX.XX17 . XX.XX.XX

19

10
=

1/8"NPT
-
!

S
nle

8271.XX.XX43.XX.XX.XX

0O-Ring
8.92x1.83

M5x7 /1

7/16"-20UNF
SAE4 (J1926)

SW19

8271.XX.XX42.XX.XX.XX

R1/4"
DIN3858

M12x1

Seal o
DINENISO 61492 =

—
o~
(S

8271.XX.XX64.XX.XX.XX

H72619g

2 V+(24VD0)
- 3V-(0VDO)

54...60

8271 XX XXXX.XX.XX.33

24 185

G1/4"
G1/4"
EN837

095

05

int. dampin;

o
)
005 &
=
a

©
i}
n

SW19

—
N
(S}

8271.XX.XX15.XX.XX.XX

7/16"-20UNF SAE J512
&P
ol

861 \SW19
021

8271.XX.XX24.XX.XX.XX

0-Ring
08.92x1.83

M5x7

7/16"-20UNF
SAE4 (J1926)

SW19

8271.XX.XX69.XX.XX.XX

8271.XX.XX20.XX.XX.XX

20
11

M12x1.25

Seal o
DINENISO 61492 3

021

8271.XX.XX65.XX.XX.XX

[~

8271.XX.XX53.XX.XX.XX

EW4/7

SW19
021
=
&
SW19
@21

o~
5
=
i 135
=45
8. —
° =
2
8.6 \SW19
02
8271.XX.XX44 XX XX.XX
19
9/16"-18UNF
SAE6 (J1926)

SW19

8271.XX.XX61.XX.XX.XX

19
10
(o)
L
. ©
221
[agyan}
o~
[Z2US
8271.XX.XX16.XX.XX.XX
21
g 12
=5
Seal DIN3869/ o~ _
Zls
8271.XX.XX49.XX.XX.XX

8271.XX.XX54.XX.XX.XX

CMP 8271

1/4" NPT

45

DIN3866
094
1
I

7/16"-20UNF

11.5

SW19

—
o~
(S

8271.XX.XX18.X

x

XX XX

O-Ring |12
@12x2

M5x7 /]

9116"18UNF
SAE6(1926) gy

8271.XX.XX6T.XX.XX.XX

DIN EN1SO 6149-2
1\0
j

M10x1

SW19
021

8271.XX.XX32.XX.XX.XX

20
11

DIN EN IS0 6149-2

M14x1.5

SW19
[yl

8271 XX.XX31.XX.XX.XX

sensors@controls



CMP 8271

RBARE

BHSHE WHES [ EEBE E£ Y CANopen /12/24 (9 ... 32) VDC
BRUHRE | TR <0.5W
FREH NERRE -40°C ... +125°C
FERE -40°C ... +125°C
BhIPER Y =\ IP6T
i 16 g RMS (10...2000 Hz) (EN60068-2-64)
25 g sin (80...2000 Hz), 1 oct./min,
(1x @ 25°C) (EN60068-2-6)
& 50g/8ms
100 g / 6 ms #EfHHEk M12x1
(EN60068-2-27)
EMCEH#EAY =) EN/IEC 61000-6-3
Mg EN/IEC 61000-6-2
WidEhE ERSES (1A R) 1.4542 (AISI630)
FEAEO (EHNHR) 1.4542 (AISI630)
ohE 1.4301 (AISI304)
it SIITHER
gL SIITHER
B8 ~60g
REHIE 25Nm

BRI IR R MHRFLIR LA

2 B AR BT

H72619g

sensors@ controls



BE
MEFEE 0.5 %
TS 25
BiREH @-25...+85°C [% FS g1R!{H] +1.75
HBE @+25°C [% FS F85{E] +05
NLH @ +25°C (BSL) [% FS £a7U(E] +02
TCERRENETTE [% FS/K B2BU{E) +0.03
1 FEKHRE @ +25°C [% FS g1R!{H] +0.1
EhEREES
pag ;= >10bit@1ms
13bit@ =8 ms
HHEE (B%E) 1ms (1 kHz)
MEFETHE #TF) HRIEDS-404ME S T EMBEHT
¥fE

CMP 8271

MEFEE 0.3 %
TS 23
+1.0
+03
+0.2
+0.01
+0.1

> 10bit@1ms
13bit@ =8 ms
1ms (1 kHz)
1RIEDS-404NE S TIIEM ST
&

AIEREFL 0.5 % (£=%a3 25)

7

6

5 ~~ — =

4
3 = —
§ 2 — ~ L - - —
=1 = —

s 04-——+-+—"——+—-—FH——F+—"TF—F——F+—"1—1—+11
2! ——— = ——

S 2 = = —
< — 3 1 —

4 — ~

5 =

s —

7

50 40 30 20 0 0 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp. (°C)
max. — —  typ.—— [ TEB(-25...+85)
N: [ EERES =
AIEFEEZHLR 0.3 % ((FREE 23)

5

4
3 - L
® 2 i p— — —

1 = e ——
Rt — e e e R SRR B
El — - = = = T —
27 = [l S

4

5

50 40 -30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp.(°C)
max. — —  typ.—— 1 TEB(-25...+85)
H72619¢g BB 6/7

sensors@ controls



CMP 8271
ﬂ CANopen ¥t

CIARFE MM

HHIES : CAN 84 (150 11898-2)

CANopen : DS301

REER  DS404-1

CIARLZEE: 10 kbit/s ... 1 Mbit/s

BahiRes [ R RIRG

245 11 45 HRIRAT CAN 2.0 A/B

SDOAR%#8: 1

TX-PDOs: 2

PDOR: BlEIft R, RS (1&IF)

PDO B4t : 2

FRERT PDO F o= AR A SRR, 32516 LLiFEY
MEMENREAEES 1kHz

MEIE K2 RI\DS-404-1EETHENBHTIE
A3, BERIENEAL: EA: bar, Pa. psi. mmHg, atm, at; BE: °C. °F. K
SRR

BFEEiLETHEDRHRT

SCHELSS (DS305)

B OB T IRIER

ZR2FRGER

AFBENNANRISHETS

NEEH

pre = HIER www.trafag.com/H72619
1R1EBA www.trafag.com/H73619
IF www.trafag.com/H70613

H72619g EmT sensors & controls



